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ENGLISH VERSION

Instruction : All questions are compulsory.

1 A

B)

1 @A

(B)

2 (A)
B)

2 (A)
B)

Difference :
(1) Variable and Attribute charts
(11) 'np' and 'p' charts
Explain :
(1) Single Sampling Plan
@a1) Double Sampling Plan
OR

Draw X and R charts.

X [24 (28|30 (35[20 |14 |18 (20|22 |29
RI3 (514|189 |5|2|10]3

(A, =0.58)

Draw an appropriate control chart for »=200.

No. of Defectives | 8 [12 |2 (20|10 (15620 |13 |8

Explain : Least Square Method.

From the following Technology co—efficient Matrix,
find total production of Industries A, B and C.

F.D.

02 0 0 40
0.1 01 O 0
03 0.2 03] [100

OR
What is Time Series ? Explain components of it.

Fit y=a+bx+cx> to the data.

Year | '15 | '16 | '17 | '18 | '19 | '20
Index | 100 | 107 [ 128 | 140 | 181 | 192
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(A) What is elasticity of demand ? Explain with example.

(B) Demand function of a Commodity Qd=20(p+1)",
compute elasticity when p=Rs.2,

OR

3

Total Cost Function : C =300x—10x’ +x?’

Calculate :
(1) x at which M. C. is minimum.

(1) x at which A. C. is minimum.
(i) x at which MC = AC.

(A) Explain :
1) Utility
(@i) Total Utility
@i1) Marginal Utility
@v) Utility Function
(B) Utility function of a commodity u:(x+2)2/3.(y+1)1/3
and Budget equation 2x+y=7, find x and y for Max.
Utility.
OR

Production Function of a Commodity is
Sxy—-y—x
7 = f(x,y) = (x—)

9. Find
(1 x, y for Max. Profit
(11) Max. Profit.

, and value of x, y and z are 1, 4 and
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